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Pv

Step XX
100 kg

1)

350 550 W/m3

Pv

CQA

Pv

Pv

Pv=NprNs3ds/V

Np
\Y

2)

1)

Pv

300,mL

D 3 kg
Pv
1)
90kg, 90%
CPP
Pv
‘ Pv
Pv
Pv
N d

546rpm
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56

Pv 450W/m3
77rpm

A
ERE TIiBA
HMER 300ml 2m®
R 3% IRR 3R BE
R/ d [m] 0.049 0.91
iz D [m] 0.075 14
BHE/ R diD [ 0.65 0.65,
RREE N [rpm] sl
s 9.10 1.29
w [rad/s] 57.1 8.1
HHE P [kg/m3] 845 845
BAE W {Pa: s}| 5.0E-04] 5.0E-04
BRI Re (=pNd*u ) [ 3.72E+04| 1.81E+06
BhK Np ( =P/pN*d® ) [ 0.40 0.40
BEFEDH P (=T w=T-2uN) W] 0.072 449.9
rLY T (=9.807x10-5xt[g-cm] ) 9] 0.001]  55.658
FILZBIENE t [g-cm] 13| 567528
R/ R H/D [ 0.483 0.464
BR H [m] 0.036 0.650)
BER \ L] 0.16 1000
Pvill Pv_ (=P /V= NppN’d®/V) | Wim®] 450 450
NyFH4Z [kg] 0.016 100
CQA CPP
60-1404 m CPP Pv
1
700 |¥ )
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60 [BC\ f n20 /‘
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Xst Temp [*C]
Pv

PviE ERE
[W/m®]

TiHA

[E1#5 %4 [rpm]

AR 550 > 584 83
- A 450 ————> 546 77
350 ———> 502 7

PViE—7E

Pv CQA
DS
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A
(H/D)
0.6
Pv
H/D
verification
Pv
A
stepXX
CQA
Pv
Pv
Pv=NprN3ds/V  (
Np
\V
A
A XX
H/D=0,4~0.6
Pv

350-550 W/m3

300 mL

CQA

100kg

Pv

Pv

350-550 W/ms3

60-140u m

Pv

Pv

H/D

H/D 04

71-83 rpm
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107
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110
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112

A
300m| 2m?
3 3
[m] 0.049 0.91
D [m] 0.075 1.4
/ diD [ 0.65 0.65
N [rpm] 546 77
[s7] 9.10 1.29
[ [rad/s] 57.1 8.1
p [kg/m3] 845 845
u [Pa ]| 5.0E-04| 50E-04
Re oNd%/y [ 3.72E+04| 1.81E+06
Np  P/pN°d® [ 0.40 0.40
P T w T 2nN W] 0.072 449.9
T ( 9.807x10-5xt[g cm]) ] 0.001| 55658
t lg cm] 13| 567528
/ HID [ 0.483 0.464
H [m] 0.036 0.650
v ] 0.16 1000
Pv Pv (=P V= NppN’d® V) | [W/m?] 450 450
lkg] 0.016 100
B
stepXX
CQA
CQA
Pv 350-550 W/m3
Pv

Pv=NprNsdsivV ()

Np
\Y

XX

H/D=0,4~0.6

300kg

Pv

350-550 W/ms3

60-140u m

Pv A
W/m] [rpm]
550 ——> 584 83
450 ————> 546 77
350 ————> 502 71
d
B
60-69rpm
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Pv A

[W/m?] [rpm]
550 584 83 69
450 546 77 65
350 502 71 60

Pv
A B
300m| 2m? 5m®
3 3 3
[m] 0.049 0.91 1.26
D [m] 0.075 1.4 1.95
dip [ 0.65 0.65 0.65
N [rpm] 546 77 65
[s?] 9.10 1.29 1.08
[ [rad/s] 57.1 8.1 6.8
P [kg/m3] 845 845 845
u [Pa ]| 5.0E-04] 5.0E-04] 5.0E-04
Re pNd*p [ 3.72E+04| 1.81E+06| 2.92E+06
Np  P/pN°d® [ 0.40 0.40 0.40
P T o T 2nN w] 0.072 449.9| 13496
T ( 9.807x10-5xt[g cm]) 1] 0.001| 55.658] 199.138
t [g cm] 13| 567528 2030566
H/D [ 0.483 0.464 0.515
H [m] 0.036 0.650 1.005
v ] 0.16 1000 3000
Pv Pv (=P V= NppNd® V) | [w/m?] 450 450 450
k] 0.016 100 300




